let T=any theory under question

    A=a particular assumption or a proposition

    B=beliefs for that proposition (either 1 or 0)

    M=Measurability of that assumption (in %)

hence

 T=∑Ai for i = 0,1,2,………

Ai=Bi * Mi

Let me explain

A theory is composed of many assumptions derived from various science of knowledge

But any assumption is itself composed of a belief of its existence or truth of its reliability

And whether it is measurable or not if yes also still upto what extend

Hence any assumption is a multiplication of the belief and its measurability

Say for ex if for an assumtption u possess no belief but do have a measurable unit to justify its existence still u won’t consider that assumption for ur theory

Arre its just like tangewalla concept either logic 1 or logic 0 for belief

Now if belief is there then the power of that assumption depends upon its measurability

Hence higher the measurability higher the assumption and higher the theory depends upon that assumption

Finally a theory in totality is the sum of all assumptions.

Hence by and large a theory as such is not wrong it is always correct in every sense that it exists since a theory is the derivative of the assumptions in use

Hence what can be wrong is the assumptions and not the theory 

Say A1=1*0.5

       A2=1*0.9

       A3=0*0.99

Then T=0.5+0.9+0=1.4 while the strongest theory with three assumptions should give us the value of T as 3

Of course this is debatable yet my analysis have proved right in all respect till now due to which all kind of theories can be deducted through the formula shown above

I would appreciate any statements to counter my logic.

Actually I have a professor Dr.R.P.Deshpande whom v call it as RDX (bomb) as he is really terrifying he has done his PH.D (Mkting) he taught us one fundamental stuff that is to apply all the knowledge u possess in any subject u do

And also to quanitify in terms of mathematical models

I was just trying to do that and I thought I would share my idea with u if u can do tell me whether I am wrong or right I would correct my concepts for future benefits

